
Top End Wheelchair Service Part List:

60001592 CROSSFIRE ALL TERRAIN,

Service Part Item Group: Frame Components
Item Number: Description: Rev: Rev Date: Unit: Price: Image:

1156694 B Pieces $37.0007/28/178" FRONT FORK TO CROSSFIRE ALL TERRAIN

1143275 B Pieces $147.0009/04/08ASM, TUBE, CAMBER 0 

 - SEAT WIDTH: 

 - WHETHER KNOBBY TIRE:

1061173 A Pieces $18.0004/26/16AXLE RECEIVER ASM W/NUT AND WAVY WASHER

1026972 A Pair $68.0003/09/03BACK EXTENSIONS ASM, ADJUSTABLE HEIGHT 

BACK

1145893 B Pieces $16.0009/22/17CAMBER TUBE CLAMP ASM, CROSSFIRE

1088523 E Pieces $16.0003/26/12CAP, HEADTUBE

1139750 B Pieces $6.0008/18/06CLAMP, 1.125", SINGLE SCREW

1156752 B Pieces $1.0012/02/16DECAL - MADE IN USA

1167536 A Pieces $8.0004/19/11DECAL, CROSSFIRE

1165867 A Pieces $15.7712/07/09KIT, PLUNGER PIN W/ SPRING

1140378 C Pieces $10.0004/19/11RECEIVER, FOOTREST

1061415 A Pieces $3.0001/01/15SPACER,1/2, ALUM, .505X.75X.500

1026971 A Pair $37.0003/09/03TELESCOPING TUBE ASM SHR ASM LON-PS

1026178 F Pieces $9.0012/22/08THREADED AXLE RECEIVER

Page 1 of 1808/19/22Creation Date/Time:  7:14 pm



Top End Wheelchair Service Part List:

60001592 CROSSFIRE ALL TERRAIN,

Service Part Item Group: Wheels
Item Number: Description: Rev: Rev Date: Unit: Price: Image:

1061215 B Pieces $3.0001/01/15ADAPTER,FOR PRESTA VALVE, SCREW-ON

60001647 B Pieces $33.0002/18/21AXLE, QUICK RELEASE, STANDARD LENGTH

1180878 A1 Pieces $67.0007/01/16CASTER, CRFAT, 8"X2" , FLAT FREE, W/BEARINGS

1026136 E1 Pieces $88.0007/10/18HANDRIM,24",HARD ANODIZED , 6-TAB,(540)

60109980 A Pieces $80.0011/27/18HANDRIM,24",HARD ANODIZED , 6-TAB,CUT 

TABS,(540)

1029493 C1 Pieces $75.0003/09/03HANDRIM,25",HARD ANODIZED , 6-TAB,(559)

60109981 A Pieces $81.0002/14/19HANDRIM,25",HARD ANODIZED , 6-TAB,CUT 

TABS,(559)

1145898 B Pieces $11.0010/19/18HARDWARE KIT, FOR 6-TAB HANDRIM, ALL SIZES

60109239 B Pieces $30.0010/19/18HARDWARE KIT, FOR 12-TAB HANDRIM, ALL SIZES

1185081 D Pieces $3.0009/26/13RIM STRIP,25"X16MM, FOR WC&BIKE-WHEELS,(559)

1156692 C Pieces $68.4005/06/22TIRE,26"X2.5",KENDA, KNOBBY,BLACK,CLIN(559)

1156693 A1 Pieces $12.0001/31/20TUBE,26"X2.35-2.75", SCHRADER VALVE,CLIN,(559)

1054054 B Pieces $79.0003/08/19WHEEL,24",HP,REAR,36SPOKE ,FOR QR 

AXLE,CLIN,(540)

1112837 B Pieces $83.0003/08/19WHEEL,25",HP,REAR,36SPOKE ,FOR QR 

AXLE,CLIN,(559)

Page 2 of 1808/19/22Creation Date/Time:  7:14 pm



Top End Wheelchair Service Part List:

60001592 CROSSFIRE ALL TERRAIN,

Service Part Item Group: Side Guards and Armrests
Item Number: Description: Rev: Rev Date: Unit: Price: Image:

1059414 A Pair $319.0001/01/15FIXED ALUMINUM SIDE GUARDS

 - OUTLINE:

Page 3 of 1808/19/22Creation Date/Time:  7:14 pm



Top End Wheelchair Service Part List:

60001592 CROSSFIRE ALL TERRAIN,

Service Part Item Group: Footrests
Item Number: Description: Rev: Rev Date: Unit: Price: Image:

1116577 A Pair $25.0002/08/192" ADAPTIVE FOOTPLATE SPACER ASSEMBLY

1166173 B1 Pieces $8.0007/24/17CLAMP, FOOTREST WITH CUT OUT

1142938 A Pieces $14.0010/10/16SPORT FOOTPLATE, FOR ADJ ANGLE (ONE PIECE)

1054267 B Pieces $36.0001/01/15STRAP, D-RING FOR FOOTREST, 25"

1153249 A Pieces $36.0001/16/19STRAP, D-RING FOR FOOTREST, 30"

1143283 B Pieces $34.0003/12/12TUBE, SUPPORT FOOTREST TAPERED FRONT (BLK)

Page 4 of 1808/19/22Creation Date/Time:  7:14 pm



Top End Wheelchair Service Part List:

60001592 CROSSFIRE ALL TERRAIN,

Service Part Item Group: Upholstery
Item Number: Description: Rev: Rev Date: Unit: Price: Image:

1181599 F Pieces $137.0001/28/19BACK UPH,ANC&ADJ,BLK,FOR BH 8-11"ADJ/ 

8-9"FXD,(5)

 - NOTE: NOT FOR CHAIRS WITH WELDED TUBE SIDE 

GUARDS: 

 - SEAT WIDTH:

1181807 F Pieces $142.0001/28/19BACK UPH,ANC&ADJ,BLK,FOR 

BH10-14"ADJ/10-14"FXD,(7)

 - NOTE: NOT FOR CHAIRS WITH WELDED TUBE SIDE 

GUARDS: 

 - SEAT WIDTH:

1181601 F Pieces $143.0001/28/19BACK UPH,ANC&ADJ,BLK,FOR BH12-16"ADJ,(8)

 - NOTE: NOT FOR CHAIRS WITH WELDED TUBE SIDE 

GUARDS: 

 - SEAT WIDTH:

1181603 F Pieces $148.0001/28/19BACK UPH,ANC&ADJ,BLK,FOR BH14-18"ADJ,(10)

 - NOTE: NOT FOR CHAIRS WITH WELDED TUBE SIDE 

GUARDS: 

 - SEAT WIDTH:

1181605 F Pieces $153.0001/28/19BACK UPH,ANC&ADJ,BLK,FOR BH16-20"ADJ,(12)

 - NOTE: NOT FOR CHAIRS WITH WELDED TUBE SIDE 

GUARDS: 

 - SEAT WIDTH:

1181598 F Pieces $139.0001/28/19BACK UPH,ANC&ADJ,BLK,FOR WELD SG, ALL BH 

9-12",(4)

 - FOR CHAIRS W/ WELDED TUBE SIDE GUARDS: 

 - SEAT WIDTH:

60108078 B Pieces $139.0001/28/19BACK UPH,ANC&ADJ,BLK,LTHR ,BH 8-11"ADJ/ 

8-9"FXD,(5)

 - NOTE: NOT FOR CHAIRS WITH WELDED TUBE SIDE 

GUARDS: 

 - SEAT WIDTH:

60108080 B Pieces $144.0001/28/19BACK UPH,ANC&ADJ,BLK,LTHR 

,BH10-14"ADJ/10-14"FXD,(7

 - NOTE: NOT FOR CHAIRS WITH WELDED TUBE SIDE 

GUARDS: 

 - SEAT WIDTH:

60108081 A1 Pieces $145.0001/28/19BACK UPH,ANC&ADJ,BLK,LTHR ,BH12-16"ADJ,(8)

 - NOTE: NOT FOR CHAIRS WITH WELDED TUBE SIDE 

GUARDS: 

 - SEAT WIDTH:

60108082 B Pieces $150.0001/28/19BACK UPH,ANC&ADJ,BLK,LTHR ,BH14-18"ADJ,(10)

 - NOTE: NOT FOR CHAIRS WITH WELDED TUBE SIDE 

GUARDS: 

 - SEAT WIDTH:

60108083 A1 Pieces $154.0001/28/19BACK UPH,ANC&ADJ,BLK,LTHR ,BH16-20"ADJ,(10)

 - NOTE: NOT FOR CHAIRS WITH WELDED TUBE SIDE 

GUARDS: 

 - SEAT WIDTH:

60108076 A1 Pieces $138.0001/28/19BACK UPH,ANC&ADJ,BLK,LTHR ,FOR CUSTOM 

BH,(3)

 - SEAT WIDTH:

60108077 A1 Pieces $141.0001/28/19BACK UPH,ANC&ADJ,BLK,LTHR ,WELD SG, ALL BH 

9-12"(4)

 - FOR CHAIRS W/ WELDED TUBE SIDE GUARDS : 

 - SEAT WIDTH:

1046244 F Pieces $164.0001/12/17BACK UPH,CENTER COVER,BLK FOR 8-11"BH X 14W 

(29.5)

Page 5 of 1808/19/22Creation Date/Time:  7:14 pm



Top End Wheelchair Service Part List:

60001592 CROSSFIRE ALL TERRAIN,

Service Part Item Group: Upholstery
1046245 F Pieces $165.0001/12/17BACK UPH,CENTER COVER,BLK FOR 8-11"BH X 15W 

(29.5)

1046246 F Pieces $166.0001/12/17BACK UPH,CENTER COVER,BLK FOR 8-11"BH X 16W 

(29.5)

1046247 F Pieces $167.0001/12/17BACK UPH,CENTER COVER,BLK FOR 8-11"BH X 17W 

(29.5)

1046248 F Pieces $169.0001/12/17BACK UPH,CENTER COVER,BLK FOR 8-11"BH X 18W 

(29.5)

1046249 F Pieces $170.0001/12/17BACK UPH,CENTER COVER,BLK FOR 8-11"BH X 19W 

(29.5)

1046250 F Pieces $171.0003/09/03BACK UPH,CENTER COVER,BLK FOR 8-11"BH X 20W 

(29.5)

1037929 F Pieces $167.0001/16/17BACK UPH,CENTER COVER,BLK FOR 10-14"BH X 

14W (35.5)

1037930 F Pieces $169.0001/16/17BACK UPH,CENTER COVER,BLK FOR 10-14"BH X 

15W (35.5)

1037931 F Pieces $144.0001/16/17BACK UPH,CENTER COVER,BLK FOR 10-14"BH X 

16W (35.5)

1037932 F Pieces $171.0001/16/17BACK UPH,CENTER COVER,BLK FOR 10-14"BH X 

17W (35.5)

1037933 F Pieces $173.0001/16/17BACK UPH,CENTER COVER,BLK FOR 10-14"BH X 

18W (35.5)

1037934 F Pieces $174.0001/16/17BACK UPH,CENTER COVER,BLK FOR 10-14"BH X 

19W (35.5)

1037935 F Pieces $175.0001/17/17BACK UPH,CENTER COVER,BLK FOR 10-14"BH X 

20W (35.5)

1037918 F Pieces $170.0001/12/17BACK UPH,CENTER COVER,BLK FOR 12-16"BH X 

14W (39.5)

1037919 F Pieces $171.0001/12/17BACK UPH,CENTER COVER,BLK FOR 12-16"BH X 

15W (39.5)

1037920 F Pieces $173.0001/12/17BACK UPH,CENTER COVER,BLK FOR 12-16"BH X 

16W (39.5)

1037921 F Pieces $174.0001/12/17BACK UPH,CENTER COVER,BLK FOR 12-16"BH X 

17W (39.5)

Page 6 of 1808/19/22Creation Date/Time:  7:14 pm



Top End Wheelchair Service Part List:

60001592 CROSSFIRE ALL TERRAIN,

Service Part Item Group: Upholstery
1037922 F Pieces $175.0001/12/17BACK UPH,CENTER COVER,BLK FOR 12-16"BH X 

18W (39.5)

1037923 F Pieces $178.0001/12/17BACK UPH,CENTER COVER,BLK FOR 12-16"BH X 

19W (39.5)

1037924 F Pieces $179.0001/12/17BACK UPH,CENTER COVER,BLK FOR 12-16"BH X 

20W (39.5)

1037722 F Pieces $171.0001/12/17BACK UPH,CENTER COVER,BLK FOR 14-18"BH X 

14W (43.5)

1037723 F Pieces $165.7001/12/17BACK UPH,CENTER COVER,BLK FOR 14-18"BH X 

15W (43.5)

1037724 F Pieces $175.0001/12/17BACK UPH,CENTER COVER,BLK FOR 14-18"BH X 

16W (43.5)

1037725 F Pieces $177.0001/12/17BACK UPH,CENTER COVER,BLK FOR 14-18"BH X 

17W (43.5)

1037726 F Pieces $179.0001/12/17BACK UPH,CENTER COVER,BLK FOR 14-18"BH X 

18W (43.5)

1037727 F Pieces $171.8001/12/17BACK UPH,CENTER COVER,BLK FOR 14-18"BH X 

19W (43.5)

1037728 F Pieces $183.0001/12/17BACK UPH,CENTER COVER,BLK FOR 14-18"BH X 

20W (43.5)

1143982 F Pieces $173.0009/23/08BACK UPH,CENTER COVER,BLK FOR 16-20"BH X 

14W (45.5)

1143983 F Pieces $175.0008/12/16BACK UPH,CENTER COVER,BLK FOR 16-20"BH X 

15W (45.5)

1143984 F Pieces $177.0009/23/08BACK UPH,CENTER COVER,BLK FOR 16-20"BH X 

16W (45.5)

1143985 F Pieces $201.0009/23/08BACK UPH,CENTER COVER,BLK FOR 16-20"BH X 

17W (45.5)

1143986 F Pieces $180.0009/23/08BACK UPH,CENTER COVER,BLK FOR 16-20"BH X 

18W (45.5)

1143987 F Pieces $183.0009/23/08BACK UPH,CENTER COVER,BLK FOR 16-20"BH X 

19W (45.5)

1143988 F Pieces $184.0009/23/08BACK UPH,CENTER COVER,BLK FOR 16-20"BH X 

20W (45.5)

Page 7 of 1808/19/22Creation Date/Time:  7:14 pm



Top End Wheelchair Service Part List:

60001592 CROSSFIRE ALL TERRAIN,

Service Part Item Group: Upholstery
1145600 C Pieces $113.0009/04/18BACK UPH,FOLDOVER,BLK,FOR 8-11"BH X 14W 

(25.0)

1145601 C Pieces $113.0009/04/18BACK UPH,FOLDOVER,BLK,FOR 8-11"BH X 15W 

(25.0)

1145602 C Pieces $114.0009/04/18BACK UPH,FOLDOVER,BLK,FOR 8-11"BH X 16W 

(25.0)

1145603 C Pieces $114.0009/04/18BACK UPH,FOLDOVER,BLK,FOR 8-11"BH X 17W 

(25.0)

1145604 C Pieces $116.0009/04/18BACK UPH,FOLDOVER,BLK,FOR 8-11"BH X 18W 

(25.0)

1145605 C Pieces $116.0009/04/18BACK UPH,FOLDOVER,BLK,FOR 8-11"BH X 19W 

(25.0)

1145606 C Pieces $116.0009/04/18BACK UPH,FOLDOVER,BLK,FOR 8-11"BH X 20W 

(25.0)

1145609 C Pieces $114.0009/04/18BACK UPH,FOLDOVER,BLK,FOR 10-14"BH X 14W 

(27.5)

1145610 C Pieces $116.0009/04/18BACK UPH,FOLDOVER,BLK,FOR 10-14"BH X 15W 

(27.5)

1145611 C Pieces $206.0009/04/18BACK UPH,FOLDOVER,BLK,FOR 10-14"BH X 16W 

(27.5)

1145612 C Pieces $111.3009/04/18BACK UPH,FOLDOVER,BLK,FOR 10-14"BH X 17W 

(27.5)

1145613 C Pieces $118.0009/04/18BACK UPH,FOLDOVER,BLK,FOR 10-14"BH X 18W 

(27.5)

1145614 C Pieces $118.0009/04/18BACK UPH,FOLDOVER,BLK,FOR 10-14"BH X 19W 

(27.5)

1145615 C Pieces $119.0009/04/18BACK UPH,FOLDOVER,BLK,FOR 10-14"BH X 20W 

(27.5)

1145618 C Pieces $117.0009/06/18BACK UPH,FOLDOVER,BLK,FOR 12-16"BH X 14W 

(31.0)

1145619 C Pieces $112.5009/06/18BACK UPH,FOLDOVER,BLK,FOR 12-16"BH X 15W 

(31.0)

1145620 C Pieces $119.0009/06/18BACK UPH,FOLDOVER,BLK,FOR 12-16"BH X 16W 

(31.0)

Page 8 of 1808/19/22Creation Date/Time:  7:14 pm



Top End Wheelchair Service Part List:

60001592 CROSSFIRE ALL TERRAIN,

Service Part Item Group: Upholstery
1145621 C Pieces $113.7009/06/18BACK UPH,FOLDOVER,BLK,FOR 12-16"BH X 17W 

(31.0)

1145622 C Pieces $210.0009/06/18BACK UPH,FOLDOVER,BLK,FOR 12-16"BH X 18W 

(31.0)

1145623 C Pieces $121.0009/06/18BACK UPH,FOLDOVER,BLK,FOR 12-16"BH X 19W 

(31.0)

1145624 C Pieces $122.0009/06/18BACK UPH,FOLDOVER,BLK,FOR 12-16"BH X 20W 

(31.0)

1145627 C Pieces $119.0009/06/18BACK UPH,FOLDOVER,BLK,FOR 14-18"BH X 14W 

(34.5)

1145628 C Pieces $121.0009/06/18BACK UPH,FOLDOVER,BLK,FOR 14-18"BH X 15W 

(34.5)

1145629 C Pieces $122.0009/06/18BACK UPH,FOLDOVER,BLK,FOR 14-18"BH X 16W 

(34.5)

1145630 C Pieces $122.0009/06/18BACK UPH,FOLDOVER,BLK,FOR 14-18"BH X 17W 

(34.5)

1145631 A Pieces $123.0009/06/18BACK UPH,FOLDOVER,BLK,FOR 14-18"BH X 18W 

(34.5)

1145632 C Pieces $125.0009/06/18BACK UPH,FOLDOVER,BLK,FOR 14-18"BH X 19W 

(34.5)

1145633 C Pieces $126.0009/06/18BACK UPH,FOLDOVER,BLK,FOR 14-18"BH X 20W 

(34.5)

1145636 C Pieces $121.0009/06/18BACK UPH,FOLDOVER,BLK,FOR 16-20"BH X 14W 

(37.0)

1145637 C Pieces $122.0009/06/18BACK UPH,FOLDOVER,BLK,FOR 16-20"BH X 15W 

(37.0)

1145638 C Pieces $123.0009/06/18BACK UPH,FOLDOVER,BLK,FOR 16-20"BH X 16W 

(37.0)

1145639 C Pieces $123.0009/06/18BACK UPH,FOLDOVER,BLK,FOR 16-20"BH X 17W 

(37.0)

1145640 C Pieces $125.0009/06/18BACK UPH,FOLDOVER,BLK,FOR 16-20"BH X 18W 

(37.0)

1145641 C Pieces $126.0009/06/18BACK UPH,FOLDOVER,BLK,FOR 16-20"BH X 19W 

(37.0)

Page 9 of 1808/19/22Creation Date/Time:  7:14 pm



Top End Wheelchair Service Part List:

60001592 CROSSFIRE ALL TERRAIN,

Service Part Item Group: Upholstery
1145642 C Pieces $127.0009/06/18BACK UPH,FOLDOVER,BLK,FOR 16-20"BH X 20W 

(37.0)

1054151 A1 Pieces $8.0001/28/19CALF STRAP, FOR 10"-13.5"SW, 36"LONG

1054152 A1 Pieces $8.0001/28/19CALF STRAP, FOR 14"-16.5"SW, 41"LONG

1054153 A1 Pieces $8.0001/28/19CALF STRAP, FOR 17"-20"SW, 46"LONG

1195219 C Pieces $34.0001/28/19POSITIONING STRAP,14" SW, HOOK&LOOP,SINGLE, 

(59")

1195519 C Pieces $28.0001/28/19POSITIONING STRAP,15" SW, HOOK&LOOP,SINGLE, 

(61")

1195220 C Pieces $12.0001/28/19POSITIONING STRAP,16" SW, HOOK&LOOP,SINGLE, 

(63")

1195520 C Pieces $28.0001/28/19POSITIONING STRAP,17" SW, HOOK&LOOP,SINGLE, 

(65")

1195221 C Pieces $35.0001/28/19POSITIONING STRAP,18" SW, HOOK&LOOP,SINGLE, 

(67")

60109266 C Pieces $28.0001/28/19POSITIONING STRAP,19" SW, HOOK&LOOP,SINGLE, 

(69")

60109267 C Pieces $28.0001/28/19POSITIONING STRAP,20" SW, HOOK&LOOP,SINGLE, 

(71")

60109241 A Pieces $146.0002/08/19SEAT CUSHION,BLACK NYLON ,2" HARD

 - SEAT DEPTH: 

 - SEAT WIDTH:

1195327 E Pieces $155.0002/08/19SEAT CUSHION,BLACK NYLON ,2" SOFT

 - SEAT DEPTH: 

 - SEAT WIDTH:

1195328 A Pieces $191.0010/12/16SEAT CUSHION,BLACK NYLON ,3" SOFT

 - SEAT DEPTH: 

 - SEAT WIDTH:

1143883 A Pieces $225.0009/14/18SEAT UPH,ADJ TENSION,14W X 14D, FIXED BACK, 

BLACK

1143892 A Pieces $225.0009/13/18SEAT UPH,ADJ TENSION,14W X 15D, FIXED BACK, 

BLACK

1143901 A Pieces $225.0006/30/06SEAT UPH,ADJ TENSION,14W X 16D, FIXED BACK, 

BLACK

Page 10 of 1808/19/22Creation Date/Time:  7:14 pm



Top End Wheelchair Service Part List:

60001592 CROSSFIRE ALL TERRAIN,

Service Part Item Group: Upholstery
1143910 A Pieces $226.0009/14/18SEAT UPH,ADJ TENSION,14W X 17D, FIXED BACK, 

BLACK

1143919 A Pieces $226.0009/14/18SEAT UPH,ADJ TENSION,14W X 18D, FIXED BACK, 

BLACK

1143928 A Pieces $252.0009/14/18SEAT UPH,ADJ TENSION,14W X 19D, FIXED BACK, 

BLACK

1143937 A Pieces $252.0009/14/18SEAT UPH,ADJ TENSION,14W X 20D, FIXED BACK, 

BLACK

1143884 A Pieces $225.0009/14/18SEAT UPH,ADJ TENSION,15W X 14D, FIXED BACK, 

BLACK

1143893 A Pieces $226.0009/13/18SEAT UPH,ADJ TENSION,15W X 15D, FIXED BACK, 

BLACK

1143902 A Pieces $226.0006/30/06SEAT UPH,ADJ TENSION,15W X 16D, FIXED BACK, 

BLACK

1143911 A Pieces $227.0009/14/18SEAT UPH,ADJ TENSION,15W X 17D, FIXED BACK, 

BLACK

1143920 A Pieces $227.0009/14/18SEAT UPH,ADJ TENSION,15W X 18D, FIXED BACK, 

BLACK

1143929 A Pieces $253.0009/14/18SEAT UPH,ADJ TENSION,15W X 19D, FIXED BACK, 

BLACK

1143938 A Pieces $253.0009/14/18SEAT UPH,ADJ TENSION,15W X 20D, FIXED BACK, 

BLACK

1143885 A Pieces $227.0009/14/18SEAT UPH,ADJ TENSION,16W X 14D, FIXED BACK, 

BLACK

1143894 A Pieces $234.0009/13/18SEAT UPH,ADJ TENSION,16W X 15D, FIXED BACK, 

BLACK

1143903 A Pieces $227.0007/01/06SEAT UPH,ADJ TENSION,16W X 16D, FIXED BACK, 

BLACK

1143912 A Pieces $228.0009/14/18SEAT UPH,ADJ TENSION,16W X 17D, FIXED BACK, 

BLACK

1143921 A Pieces $228.0009/14/18SEAT UPH,ADJ TENSION,16W X 18D, FIXED BACK, 

BLACK

1143930 A Pieces $254.0009/14/18SEAT UPH,ADJ TENSION,16W X 19D, FIXED BACK, 

BLACK

Page 11 of 1808/19/22Creation Date/Time:  7:14 pm



Top End Wheelchair Service Part List:

60001592 CROSSFIRE ALL TERRAIN,

Service Part Item Group: Upholstery
1143939 A Pieces $254.0009/14/18SEAT UPH,ADJ TENSION,16W X 20D, FIXED BACK, 

BLACK

1143886 A Pieces $227.0009/14/18SEAT UPH,ADJ TENSION,17W X 14D, FIXED BACK, 

BLACK

1143895 A Pieces $228.0009/13/18SEAT UPH,ADJ TENSION,17W X 15D, FIXED BACK, 

BLACK

1143904 A Pieces $228.0006/30/06SEAT UPH,ADJ TENSION,17W X 16D, FIXED BACK, 

BLACK

1143913 A Pieces $228.0009/14/18SEAT UPH,ADJ TENSION,17W X 17D, FIXED BACK, 

BLACK

1143922 A Pieces $230.0009/14/18SEAT UPH,ADJ TENSION,17W X 18D, FIXED BACK, 

BLACK

1143931 A Pieces $256.0009/14/18SEAT UPH,ADJ TENSION,17W X 19D, FIXED BACK, 

BLACK

1143940 A Pieces $257.0009/14/18SEAT UPH,ADJ TENSION,17W X 20D, FIXED BACK, 

BLACK

1143887 A Pieces $228.0009/14/18SEAT UPH,ADJ TENSION,18W X 14D, FIXED BACK, 

BLACK

1143896 A Pieces $228.0009/13/18SEAT UPH,ADJ TENSION,18W X 15D, FIXED BACK, 

BLACK

1143905 A Pieces $230.0007/01/06SEAT UPH,ADJ TENSION,18W X 16D, FIXED BACK, 

BLACK

1143914 A Pieces $230.0009/14/18SEAT UPH,ADJ TENSION,18W X 17D, FIXED BACK, 

BLACK

1143923 A Pieces $231.0009/14/18SEAT UPH,ADJ TENSION,18W X 18D, FIXED BACK, 

BLACK

1143932 A Pieces $257.0009/14/18SEAT UPH,ADJ TENSION,18W X 19D, FIXED BACK, 

BLACK

1143941 A Pieces $258.0009/14/18SEAT UPH,ADJ TENSION,18W X 20D, FIXED BACK, 

BLACK

1143888 A Pieces $230.0009/14/18SEAT UPH,ADJ TENSION,19W X 14D, FIXED BACK, 

BLACK

1143897 A Pieces $230.0009/13/18SEAT UPH,ADJ TENSION,19W X 15D, FIXED BACK, 

BLACK

Page 12 of 1808/19/22Creation Date/Time:  7:14 pm



Top End Wheelchair Service Part List:

60001592 CROSSFIRE ALL TERRAIN,

Service Part Item Group: Upholstery
1143906 A Pieces $231.0006/30/06SEAT UPH,ADJ TENSION,19W X 16D, FIXED BACK, 

BLACK

1143915 A Pieces $231.0009/14/18SEAT UPH,ADJ TENSION,19W X 17D, FIXED BACK, 

BLACK

1143924 A Pieces $232.0009/14/18SEAT UPH,ADJ TENSION,19W X 18D, FIXED BACK, 

BLACK

1143933 A Pieces $258.0009/14/18SEAT UPH,ADJ TENSION,19W X 19D, FIXED BACK, 

BLACK

1143942 A Pieces $260.0009/14/18SEAT UPH,ADJ TENSION,19W X 20D, FIXED BACK, 

BLACK

1143889 A Pieces $231.0009/14/18SEAT UPH,ADJ TENSION,20W X 14D, FIXED BACK, 

BLACK

1143898 A Pieces $231.0009/13/18SEAT UPH,ADJ TENSION,20W X 15D, FIXED BACK, 

BLACK

1143907 A Pieces $232.0006/30/06SEAT UPH,ADJ TENSION,20W X 16D, FIXED BACK, 

BLACK

1143916 A Pieces $232.0009/14/18SEAT UPH,ADJ TENSION,20W X 17D, FIXED BACK, 

BLACK

1143925 A Pieces $234.0009/14/18SEAT UPH,ADJ TENSION,20W X 18D, FIXED BACK, 

BLACK

1143934 A Pieces $260.0009/14/18SEAT UPH,ADJ TENSION,20W X 19D, FIXED BACK, 

BLACK

1143943 A Pieces $261.0009/14/18SEAT UPH,ADJ TENSION,20W X 20D, FIXED BACK, 

BLACK

Page 13 of 1808/19/22Creation Date/Time:  7:14 pm



Top End Wheelchair Service Part List:

60001592 CROSSFIRE ALL TERRAIN,

Service Part Item Group: Hardware
Item Number: Description: Rev: Rev Date: Unit: Price: Image:

1046421 99 Pieces $1.2003/09/031/4-28 X 1.00 F.H.S.S. ,PS

40117X021 F Pieces $11.0001/05/12BEARING, 1/2"ID X 1-1/8"OD X 3/8"

1152983 A Pieces $1.0004/14/16CABLE TIE: 8"X5/16" 120LBS (BLACK)

1139738 A Pieces $34.0011/11/19CLAMP ASM., 3/4" X 1-1/8" WHEEL LOCK

1158026 A Pieces $7.5009/04/08LOCKNUT, 1/4-28, THIN, STEEL, BLK CHR

1158023 B Pieces $1.0011/16/15LOCKNUT, 10-32, THIN, STEEL, BLK CHR

1134340 A Pieces $1.0009/04/08NUT, 1/4-28, HEX, JAM, STEEL, BLK CHR

1044945 B Pieces $8.0009/04/08NUT, 3/4-16, HEX, JAM, STEEL, BLK CHR

1181066 A Pieces $1.0005/08/15O-RING FOR PLUG, 3/4", DOMED, ALUM

1181568 A Pieces $25.0003/11/16PLUG ASM, 3/4", DOMED, ALUM

1181047 A Pieces $18.0003/11/16PLUG, 3/4", DOMED, ALUM

1055307 99 Pieces $3.0003/09/03SCREW,1/4-28 X 1", BUTTON HEAD,STEEL,BLK PHS

1109929 A2 Pieces $1.0006/02/06SCREW,1/4-28 X 1/2, SOCKET HEAD,STEEL,BLK PHS

1128026 A Pieces $1.0006/12/05SCREW,1/4-28 X 1-1/2, SOCKET HEAD,STAINLESS 

STL

1159755 B Pieces $1.0007/02/09SCREW,1/4-28 X 1-1/4, HEX HEAD,STEEL,BLK CHR

1074640 99 Pieces $8.0003/06/99SCREW,1/4-28 X 1-1/4, SOCKET HEAD,STEEL,BLK 

PHS

Page 14 of 1808/19/22Creation Date/Time:  7:14 pm



Top End Wheelchair Service Part List:

60001592 CROSSFIRE ALL TERRAIN,

Service Part Item Group: Hardware
1055348 A Pieces $7.2008/25/97SCREW,1/4-28 X 1-3/4, HEX HEAD,STEEL,BLK PHS

1158031 B Pieces $1.0007/02/09SCREW,1/4-28 X 1-3/4, FLAT HEAD,STEEL,BLK CHR

1055351 B1 Pieces $1.0006/30/21SCREW,1/4-28 X 2-1/2, HEX HEAD, BLK PHS

1118541 A Pieces $3.0008/17/03SCREW,1/4-28 X 2-3/4, HEX HEAD,STEEL,BLK PHS

1158030 B Pieces $3.0007/02/09SCREW,1/4-28 X 3/4, BUTTON HEAD,STEEL,BLK CHR

1073283 A Pieces $1.0004/19/11SCREW,1/4-28 X 3/4, SOCKET HEAD,STEEL,ZINC

1157254 B1 Pieces $1.0004/10/17SCREW,1/4-28 X 7/8, SOCKET HEAD,STEEL,BLK CHR

1153874 B Pieces $1.0007/02/09SCREW,10-32 X 1/2,BUTTON HEAD,STEEL,BLK CHR

1158035 B Pieces $1.0007/02/09SCREW,10-32 X 1/4,BUTTON HEAD,STEEL,BLK CHR

1022597 E Pieces $1.2011/25/97SCREW,10-32 X 3/8,PAN HEAD,STEEL,BLK PHS

1054018 A Pieces $1.0004/20/15SCREW,10-32 X 7/8,BUTTON HEAD,STEEL,BLK OXD

1021278 C Pieces $1.0001/09/09SCREW,5/16-18 X 2",BUTTON HEAD,STEEL,BLK PHS

1101214 B Pieces $1.0006/30/09SCREW,5/16-18 X 2-1/2, BUTTON HEAD,STEEL,BLK 

CHR

1070412 99 Pieces $1.0001/06/98SCREW,5/16-18 X 2-1/4,HEX HEAD,STEEL,BLK PHS

1105474 B Pieces $1.0006/17/15SCREW,5/16-18 X 3-1/2,HEX HEAD,STEEL,BLK PHS

1040776 99 Pieces $1.0003/09/03SPACER,1/4 OR M6,NYLON, .265X1.0X.250

1039233 99 Pieces $2.5003/09/03SPACER,1/4 OR M6,STEEL, BLK ZINC .252 X .44 X .62

Page 15 of 1808/19/22Creation Date/Time:  7:14 pm



Top End Wheelchair Service Part List:

60001592 CROSSFIRE ALL TERRAIN,

Service Part Item Group: Hardware
1142947 B Pieces $1.0009/04/08SPACER,M8 OR 5/16,PMETAL, CHROMT .31X.47X.31

1023631 C Pieces $1.0003/02/01WASHER,FLAT,#10,STEEL, BLACKPHS 

.22X.50X.036-065

1158021 A Pieces $1.0009/04/08WASHER,FLAT,1/4 OR M6, STEEL,CHROMT 

.26X.50X.025

1158017 A Pieces $1.0009/04/08WASHER,FLAT,1/4 OR M6, STEEL,CHROMT 

.26X.62X.109

1157264 A Pieces $1.0009/04/08WASHER,FLAT,5/16, NYLON, .31X.53X.031

1181672 A Pieces $1.0004/14/16WASHER,TOOTHED LOCK, M6, STAINLESS STL 

.25X.43X.03

1152958 A Pieces $1.0009/04/08WASHER,WAVY,3/4,STAINLESS STEEL 

.80X1.10X.021

Page 16 of 1808/19/22Creation Date/Time:  7:14 pm



Top End Wheelchair Service Part List:

60001592 CROSSFIRE ALL TERRAIN,

Service Part Item Group: Accessories
Item Number: Description: Rev: Rev Date: Unit: Price: Image:

1059447 A Pieces $30.0009/14/16BOX, 38" X 28" X 26"

1166599 C Pieces $71.0009/17/19BOX, 41" X 33" X 28" , DOUBLE WALL

1152963 A Pieces $111.0010/04/16CLICK STRAP W/HD ZIP TIES , 8" SMALL PADS

1152964 A Pieces $121.0010/04/16CLICK STRAP W/HD ZIP TIES ,10" MEDIUM PADS

1152965 A Pieces $128.0010/04/16CLICK STRAP W/HD ZIP TIES ,12" LARGE PADS

1139746 A Pair $93.0010/04/16CLICK STRAP, NO HDW, 8" SMALL PADS

1139818 A Pair $96.0010/04/16CLICK STRAP, NO HDW, 10" MEDIUM PADS

1127914 A Pair $107.0010/04/16CLICK STRAP, NO HDW, 12" LARGE PADS

1181540 A Pieces $9.0011/20/15LADDER, SINGLE FOR SMALL CLICK STRAPS(9X.75)

1181837 A Pieces $7.0001/12/17TOOL KIT, HEX KEYS AND PRESTA ADAPTER

Page 17 of 1808/19/22Creation Date/Time:  7:14 pm



Top End Wheelchair Service Part List:

60001592 CROSSFIRE ALL TERRAIN,

Service Part Item Group: Unassigned
Item Number: Description: Rev: Rev Date: Unit: Price: Image:

1134377 A Pieces $55.0009/04/08CLR WLDMT, BACKREST 17W X 14-18H

1150591 A Pound $11.0008/18/07STK, ALUM .125 X 1.00

1154677 A Pound $8.0007/23/08STK, ALUM. 144 X .750

1143281 C Pieces $26.0004/19/11TUBE, SUPPORT FOOTREST TAPERED FRONT

1170115 A Feet $5.0003/13/17TUBING, 3/4 X .065" 7005 ALUM

1068742 C Feet $7.0003/22/17TUBING, 3/4 X 083" 6061-T6 ALUM

1057775 A Feet $18.0001/01/15TUBING, 5/8 X .083" CRMO

Page 18 of 1808/19/22Creation Date/Time:  7:14 pm


